10 ACADEMIC MATH
LESSON NOTES
Day 6 – The Method of Substitution 2

METHOD OF SUBSTITUTION 2
	Example
For the school play, one adult ticket costs $5.00 and one student ticket costs $3.00. Twice as many student tickets as adult tickets were sold. The total revenue was $1650. How many of each kind of ticket were sold?


Solution:

Let “a” be the number of adult tickets sold.

Let “s” be the number of student tickets sold.
s = 2a                     (
5a + 3s = 1650       (
Substitute ( into (
5a + 3(2a) = 1650

5a + 6a = 1650

11a = 1650

a = 1650/11 = 150 
Substitute a=150 into(: s = 2(150) = 300

Check:

( LS = 300, RS = 2(150) = 300
( LS = 5(150) + 3(300) = 750 + 900 = 1650, RS = 1650

Therefore 150 adult tickets and 300 student tickets were sold.
	Example
Martin wants to hire a plumbing company to fix his leaky faucet.

Plumbers R Us charges $50 for the initial consultation and $30/hr for any work required.

Faucet Fixers charges $30 for the initial consultation and $40/hr for labour.

Which company should Martin choose? What assumptions did you make?


Solution (What is variable in this question?)
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Let “n” be the number of hours worked.


 (   (
Let “C” be the cost of the repair.

C = 50 +30n
(  PRU

C = 30 + 40n
(  FF

Substitute ( into (
50+30n = 30+40n

20=10n

n=2

Substitute n=2 into(: C=110

Check:

( LS = 110, RS = 50+30(2) = 110

( LS = 110, RS = 30+40(2) = 110

Therefore the two companies cost the same ($110) for a 2 hour repair. Since a leaky faucet usually takes less than 2 hours to repair, Martin should choose Faucet Fixers.
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